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1. Which of the following definitions is correct 7
(2) Absorption is the sum of all domestic goods consumed by consumers, businesses, and the
_ govemmment.
{b} The current account is the sum of net export and domestic investment.
{c) The nationsl saving is the sum of investment and net cxport.
{d) Wet factor payment is the difference between current account and et export.
(e} Nons is correct.
2. Which af the following events will cause an increase in current account ?

{a) An increase in government purchase in 2 small open €COTOMmY.

{b) A technological improvemeit in a small open economy.

(c) The government imposes an investment tex credit in 2 small open economy. o3 N
(d} Amincrease m the wmld inferest Tate for a small OpEN BCONOMLY. JI" . :é? ‘E %— %i ﬂ
L
{¢} Noneis con'ect. : :&
3. Which of the fullowmg fastors does not shift the AD curve to the right ?

{a) An increassin axpacted future output,
{b) A reduction in the effective tax rate on capital.
{c} A gise in expected inflation.

(4} An increage in personal income tix rates.
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4. Which of the following staterents is not the evidence about she nopnentrality of money ?
(2) Changes in money stock have been clossly. associated-with changes in nomina? income.
{b) The interrclation between monetary and economic changes has been highly stable.
{(c} Monetary changes have often had an independent arigin,
{d) Monetary changes have been a reflection of changes m econcenic activity.
(e) Nane of them. .
5. Whatwill happen when the stock market is bu]hsh (booming) in the efficiency wage theory if it
is true that people has lower desire to work ?
(2) It wil decrease the actual employment level.
(1) Itwill shift the effort curve to the left.
(c) Ttwill shift the EF line to the right
fd) It will increase the wage rate,
(&) All of thein,
6. ‘Which of the following statements is true about the monetary ang fiscal policies in the short run

Keynesian mode} of an open economy with flcating excha.uge rates ?

{z} Anincrease in money supply shifts the LM curve to the lefi.

{b) Anincrease in the government purchase shifts the IS cutve of forej gt country to the right,
(c) Both expansionary mozetary and fiseal policies witl increase the domestic real interest rates.

(4} The effort on foreign price [eveis due to af expansionary monetary policy or fiscal policy is
T different. ' S T

(=) All of them.

7. Which of the following statements is true about the monetary policy in the classical model of an
open econenty with floating exchange ratcs ? (The exchanpe rate is defined to be the atount of
foreign curreacy for ane wnit of domestic currency)

{2) Anincrease in money supply depreciates the real exchange rate. '
{b) Anincrease in money supply depreciates the aominal exchange rate.

(¢) Anincrease in money supply raises the real interest rate.

(d) An increase in money supply incresses the foreign price fevel.

(e} All of thetm.

8. The corrent deposit ratio is 0.2, the reserve deposit ratio is 6.2, in which the excess reserve
depesit ratie is 0.1, ifthe centzl bank lowers the required teserve ratie ta 0.05, then what
staternent Is not correct 7
() The money multiplier will increase by 0.329.

(b} Ifthe eriginal monetary base is 10 billion, then the mooetzry base will increase by 0.5
billion,

(oF 'If the original monetary base is 10 billion, then the excess reserve will increase by 0.5
kiliion,

e _.'(d) If the original mouetary basa is 10 billion, then the money supply will increase by 3.29
“ 7 billien.
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P 9. Which of the following event will be likely to cause a currency crisis in a fixed exchange rate
country ?
(2} The domestic currency is undervalued.
() The-domestic monetary pelicy is expansionary,
(c) The major trading country is conducting an expansicnary mounetary policy.
(d) The domestic interest rate is very high,
() All'of fhem,
10.  Which theory predicts the least effective fiscal policy in increasing the output level ?
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(&) The classical model with full price adjuskment.
{B) The classical misperception theory. -
{c} The short.rur Keynesian model.

(d) The real business cycle,
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